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|1 |AT1000231 | IMIT |IMBAC=8.33,NP0=9.45,NPAlegereBac=9.40,NPOBAC=6.15 [8.33 | | [1]
|2 |AT1000062 | IMIT |[MBAC=8.30,NP0=9.05,NPAlegereBac=8.05,NPOBAC=7.80 [8.30 | | [ 1]
|3 |AT1000027 | IMIT |IMBAC=8.26,NP0=8.70,NPAlegereBac=8.60,NPOBAC=7.50 [8.26 | | [1]
|4 |AT1000251 | IMIT IMBAC=8.18,NP0O=8.65,NPAlegereBac=9.15,NPOBAC=6.75 [8.18 | | [1]
|5 |[AT1000085 | IMIT |[MBAC=7.88,NP0=8.60,NPAlegereBac=7.55,NPOBAC=7.50 |7.88 | | | 1]
|6 |AT1000252 | IMIT |IMBAC=7.68,NP0O=7.90,NPAlegereBac=8.10,NPOBAC=7.05 [7.68 | | [1]
|7 |AT1000003 | IMIT |[MBAC=7.68,NP0O=7.80,NPAlegereBac=7.75,NPOBAC=7.50 |7.68 | | | 1]
|8 |AT1000067 | IMIT |IMBAC=7.65,NP0=6.75,NPAlegereBac=8.60,NPOBAC=7.60 [7.65 | | [1]
| 9 |AT1000049 | IMAPA, IMIT |[MBAC=7.53,NPO=8.15,NPAlegereBac=7.35,NPOBAC=7.10 | 7.53 | | [ 1]
|10 |[AT1000157 | IMIT, SIMIT |[MBAC=7.53,NP0O=7.65,NPAlegereBac=7.55,NPOBAC=7.40 | 7.53 | | [ 1]
|11 |AT1000233 | IMAPA, IMIT IMBAC=7.51,NP0O=8.30,NPAlegereBac=8.40,NPOBAC=5.85 |7.51 | | 1]
|12 |AT1000217 | IMIT, $IMIT |IMBAC=7.50,NP0O=8.15,NPAlegereBac=6.40,NPOBAC=7.95 [7.50 | | [1]
[13 |AT1000018 | $SIMIT |[MBAC=7.50,NP0O=6.05,NPAlegereBac=9.00,NPOBAC=7.45 | 7.50 | | | 1]
|14 |[AT1000082 | IMIT |[MBAC=7.48,NP0=9.00,NPAlegereBac=8.05,NPOBAC=5.40 | 7.48 | | [ 1]
|15 |AT1000259 | IMAPA, IMIT |[MBAC=7.45,NP0O=7.60,NPAlegereBac=8.30,NPOBAC=6.45 | 7.45 | | [ 1]
|16 |[AT1208001 | IMAPA, IMIT |[MBAC=7.43,NP0O=7.35,NPAlegereBac=8.80,NPOBAC=6.15 | 7.43 | | DZ [ 1]
|17 |[AT1000237 | IMIT, SIMIT |[MBAC=7.40,NPO=7.95,NPAlegereBac=8.30,NPOBAC=5.95 | 7.40 | | [ 1]
|18 |AT1000108 | IMIT, SIMIT |[MBAC=7.40,NP0O=7.40,NPAlegereBac=8.10,NPOBAC=6.70 | 7.40 | | [ 1]
|19 |AT1000199 | IMIT, IMAPA, SIMIT |[MBAC=7.38,NPO=7.65,NPAlegereBac=7.55,NPOBAC=6.95 | 7.38 | | [ 1]
|20 |AT1000081 | IMIT, $IMIT, IMAPA |MBAC=7.38,NP0O=7.60,NPAlegereBac=7.25,NPOBAC=7.30 |7.38 | | 1]
|21 |AT1000080 | IMAPA, IMIT |[MBAC=7.35,NP0=7.90,NPAlegereBac=7.00,NPOBAC=7.15 | 7.35 | | | 1]
|22 |[AT1000200 | IMIT, SIMIT |[MBAC=7.35,NPO=7.35,NPAlegereBac=7.90,NPOBAC=6.80 | 7.35 | | [ 1]
|23 |AT1000084 | IMIT, IMAPA, $IMIT |[MBAC=7.31,NP0=6.25,NPAlegereBac=7.25,NPOBAC=8.45 | 7.31 | | | 1]
|24 |[AT1000219 | IMAPA, IMIT |[MBAC=7.26,NPO=7.15,NPAlegereBac=8.30,NPOBAC=6.35 |7.26 | | [ 1]
|25 |AT1000176 | IMIT, IMAPA |[MBAC=7.23,NPO=7.25,NPAlegereBac=7.20,NPOBAC=7.25 | 7.23 | | [ 1]
|26 |AT1000124 | IMIT, SIMIT |[MBAC=7.20,NP0O=7.55,NPAlegereBac=6.55,NPOBAC=7.50 | 7.20 | | [ 1]
|27 |[AT1000069 | IMIT, SIMIT |[MBAC=7.20,NPO=7.45,NPAlegereBac=7.30,NPOBAC=6.85 | 7.20 | | [ 1]
|28 |AT1000064 | IMIT, $IMIT |IMBAC=7.18,NP0=7.60,NPAlegereBac=7.50,NPOBAC=6.45 [7.18 | | [1]
|29 |[AT1000119 | IMIT, IMAPA |[MBAC=7.18,NPO=6.75,NPAlegereBac=9.75,NPOBAC=5.05 | 7.18 | | | 1]
[30 |JAT1000059 | IMAPA, IMIT |IMBAC=7.08,NP0O=8.55,NPAlegereBac=6.35,NPOBAC=6.35 [7.08 | | [1]
|31 |AT1000163 | IMIT, SIMIT |[MBAC=7.08,NPO=6.55,NPAlegereBac=7.75,NPOBAC=6.95 |7.08 | | [ 1]
|32 |[AT1000279 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=7.06,NP0O=5.80,NPAlegereBac=7.60,NPOBAC=7.80 |7.06 | | [ 1]
|33 |AT1000087 | IMIT, IMAPA |IMBAC=7.05,NPO=6.70,NPAlegereBac=6.50,NPOBAC=7.95 [7.05 | | [1]
|34 |[AT1000010 | IMIT, $IMIT, IMAPA, $SIMAPA |[MBAC=7.03,NP0O=6.65,NPAlegereBac=6.80,NPOBAC=7.65 | 7.03 | | [ 1]
|35 |AT1000240 | IMIT, SIMIT |[MBAC=7.01,NPO=6.25,NPAlegereBac=7.55,NPOBAC=7.25 |7.01 | | [ 1]
|36 |[AT1000016 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=7.00,NPO=7.40,NPAlegereBac=6.55,NPOBAC=7.05 |7.00 | | | 1]
|37 |[AT1000019 | IMIT, IMAPA |[MBAC=7.00,NPO=6.65,NPAlegereBac=8.05,NPOBAC=6.30 |7.00 | | [ 1]
|38 |AT1000224 | IMAPA, IMIT, SIMAPA, SIMIT |[MBAC=7.00,NPO=6.15,NPAlegereBac=7.10,NPOBAC=7.75 | 7.00 | | [ 1]
|39 |AT1000228 | IMAPA, $IMAPA |[MBAC=6.98,NP0O=7.20,NPAlegereBac=6.25,NPOBAC=7.50 [6.98 | | | 1]
|40 |[AT1000248 | IMIT, IMAPA |[MBAC=6.96,NP0O=7.45,NPAlegereBac=5.75,NPOBAC=7.70 |6.96 | | [ 1]
|41 |AT1000083 | IMAPA, IMIT, $IMAPA, $IMIT |MBAC=6.96,NP0=5.60,NPAlegereBac=9.35,NPOBAC=5.95 16.96 | | 1]
|42 |[AT1000212 | IMAPA, IMIT, $SIMAPA, $IMIT |[MBAC=6.95,NP0=6.60,NPAlegereBac=7.65,NPOBAC=6.60 |6.95 | | | 1]
|43 |AT1000092 | IMIT, $IMIT |IMBAC=6.95,NP0=6.20,NPAlegereBac=8.55,NPOBAC=6.10 [6.95 | | [1]
|44 |AT1000164 | IMIT, $IMIT, $SIMAPA, IMAPA |IMBAC=6.93,NP0=8.55,NPAlegereBac=6.45, NPOBAC=5.80 16.93 | | 1]
|45 |AT1000216 | SIMAPA, SIMIT |[MBAC=6.93,NP0=5.90,NPAlegereBac=8.50,NPOBAC=6.40 |6.93 | | [ 1]
|46 |AT1000261 | $SIMAPA, IMAPA |IMBAC=6.90,NP0O=5.90,NPAlegereBac=7.65,NPOBAC=7.15 [6.90 | | [1]
| 47 |[AT1000129 | IMAPA, $IMAPA |[MBAC=6.90,NPO=5.15,NPAlegereBac=8.05,NPOBAC=7.50 [|6.90 | | | 1]
|48 |[AT1000177 | IMAPA, $IMAPA |[MBAC=6.88,NP0O=7.00,NPAlegereBac=5.95,NPOBAC=7.70 |6.88 | | [ 1]
|49 |AT1000284 | IMIT, $SIMAPA |IMBAC=6.88,NP0O=6.95,NPAlegereBac=7.65,NPOBAC=6.05 [6.88 | | [1]
|50 |AT1000238 | IMIT, $IMIT, IMAPA, $SIMAPA |[MBAC=6.88,NP0=6.60,NPAlegereBac=6.25,NPOBAC=7.80 |6.88 | | | 1]
|51 |AT1000277 | $SIMAPA, SIMIT |IMBAC=6.88,NP0O=5.70,NPAlegereBac=8.25,NPOBAC=6.70 [6.88 | | [1]
|52 |AT1000063 | IMIT, IMAPA, $IMIT, $SIMAPA |IMBAC=6.86,NP0=7.05,NPAlegereBac=6.85, NPOBAC=6.70 16.86 | | 1]
|53 |AT1000294 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=6.86,NP0O=6.45,NPAlegereBac=8.65,NPOBAC=5.50 |6.86 | | [ 1]
|54 |AT1000154 | IMAPA, IMIT, $IMAPA, SIMIT |MBAC=6.85,NP0=7.25,NPAlegereBac=6.85,NPOBAC=6.45 |6.85 | | 1]
|55 |AT1000181 | IMIT, IMAPA, $IMIT, SIMAPA |[MBAC=6.85,NP0=6.95,NPAlegereBac=6.90,NPOBAC=6.70 |6.85 | | | 1]
|56 |[AT1000210 | IMIT, SIMIT |[MBAC=6.83,NP0O=7.80,NPAlegereBac=7.25,NPOBAC=6.40 |6.83 | | [ 1]
|57 |AT1000002 | $IMIT, SIMAPA |IMBAC=6.83,NP0O=6.90,NPAlegereBac=7.90,NPOBAC=5.70 [6.83 | | [1]
|58 |AT1000104 | IMAPA, IMIT, $SIMAPA, $IMIT |[MBAC=6.83,NP0=5.85,NPAlegereBac=9.00,NPOBAC=7.00 |6.83 | | | 1]
|59 |AT1000106 | IMAPA, IMIT |[MBAC=6.81,NP0O=5.25,NPAlegereBac=8.15,NPOBAC=7.05 |6.81 | | [ 1]
|60 |AT1000048 | IMIT, IMAPA, $IMIT, $SIMAPA |MBAC=6.80,NP0=6.05,NPAlegereBac=8.05, NPOBAC=6.30 16.80 | | 1]
|61 |AT1000180 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=6.78,NP0O=8.15,NPAlegereBac=5.20,NPOBAC=7.00 [6.78 | | [ 1]
|62 |[AT1000147 | IMIT |[MBAC=6.78,NPO=7.45,NPAlegereBac=7.50,NPOBAC=5.40 |6.78 | | [ 1]
|63 |AT1000068 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=6.78,NP0O=6.80,NPAlegereBac=6.40,NPOBAC=7.15 [6.78 | | | 1]
| 64 |[AT1000134 | IMIT, $IMIT, IMAPA, SIMAPA |[MBAC=6.77,NP0=5.80,NPAlegereBac=9.05,NPOBAC=5.05 [6.77 | | [ 1]
|65 |AT1000249 | $IMIT, SIMAPA IMBAC=6.75,NP0=8.70,NPAlegereBac=5.90,NPOBAC=5.65 [6.75 | | [1]
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|66 JAT1000031 | IMIT, IMAPA |[MBAC=6.75,NPO=7.15,NPAlegereBac=6.90,NPOBAC=6.20 |6.75 | | | 1]
|67 |AT1000247 | IMIT, IMAPA |[MBAC=6.75,NP0O=6.90,NPAlegereBac=7.70,NPOBAC=5.10 |6.75 | | | 1]
|68 |AT1000162 | IMIT, $IMIT, $SIMAPA, IMAPA |MBAC=6.73,NPO=8.30,NPAlegereBac=6.75,NPOBAC=5.15 16.73 | | 1]
|69 |AT1000264 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=6.73,NP0=5.85,NPAlegereBac=7.10,NPOBAC=7.25 |6.73 | | | 1]
|70 |AT1000209 | SIMIT, SIMAPA |IMBAC=6.73,NP0O=5.85,NPAlegereBac=6.70,NPOBAC=7.65 |6.73 | | [ 1]
|71 |AT1000139 | IMIT |[MBAC=6.70,NPO=7.40,NPAlegereBac=6.40,NPOBAC=6.30 |6.70 | | [ 1]
|72 |AT1000007 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=6.70,NPO=6.95,NPAlegereBac=7.35,NPOBAC=5.80 |6.70 | | | 1]
|73  |AT1000254 | IMAPA, IMIT, $IMAPA, $IMIT |IMBAC=6.70,NPO=6.45,NPAlegereBac=6.10,NPOBAC=7.55 16.70 | | 1]
|74 |[AT1000170 | IMIT, SIMIT, IMAPA, $SIMAPA |[MBAC=6.66,NPO=7.75,NPAlegereBac=6.35,NPOBAC=5.90 |6.66 | | | 1]
| 75 |AT1000151 | IMIT, SIMIT |[MBAC=6.66,NPO=6.35,NPAlegereBac=6.65,NPOBAC=7.00 |6.66 | | | 1]
|76 |AT1000242 | IMIT, IMAPA, $IMIT, $IMAPA |IMBAC=6.65,NPO=5.05, NPAlegereBac=8.50, NPOBAC=6.40 |6.65 | | 1]
|77 |AT1000114 | SIMIT |IMBAC=6.58,NP0O=7.70,NPAlegereBac=5.75,NPOBAC=6.30 |6.58 | | |1
|78 |AT1000090 | IMIT, SIMIT |IMBAC=6.58,NP0O=7.45,NPAlegereBac=6.30,NPOBAC=6.00 |6.58 | | [ 1]
|79 |AT1000194 | IMIT, IMAPA, $IMIT, $IMAPA |MBAC=6.58,NPO=7.45,NPAlegereBac=5.55, NPOBAC=6.75 |6.58 | | 1]
|80 |AT1000278 | SIMIT, SIMAPA |[MBAC=6.58,NP0=5.10,NPAlegereBac=8.50,NPOBAC=6.15 |6.58 | | | 1]
|81 |AT1000073 | IMIT, SIMIT |[MBAC=6.55,NP0=6.05,NPAlegereBac=7.20,NPOBAC=6.40 |6.55 | | [ 1]
|82 |AT1000268 | IMIT, IMAPA, SIMIT, $SIMAPA |[MBAC=6.53,NP0O=7.10,NPAlegereBac=6.50,NPOBAC=6.00 |6.53 | | | 1]
|83 |AT1000292 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=6.51,NP0=5.80,NPAlegereBac=8.25,NPOBAC=7.00 |6.51 | | | 1]
|84 |AT1000290 | IMIT, IMAPA, $SIMIT, $SIMAPA |MBAC=6.50,NPO=7.70,NPAlegereBac=5.00, NPOBAC=6.80 |6.50 | | 1]
| 85 |[AT1000047 | IMIT, SIMIT |[MBAC=6.50,NP0=6.40,NPAlegereBac=6.75,NPOBAC=6.35 |6.50 | | | 1]
|86 |AT1000051 | IMAPA, IMIT, $IMIT, $SIMAPA |MBAC=6.50,NPO=5.90,NPAlegereBac=7.10,NPOBAC=6.50 |6.50 | | 1]
|87 |AT1000207 | IMIT, IMAPA, $IMIT, SIMAPA |MBAC=6.48,NPO=5.00,NPAlegereBac=7.35,NPOBAC=7.10 |6.48 | | 1]
| 88 |AT1000036 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=6.46,NP0=6.20,NPAlegereBac=6.85,NPOBAC=6.35 |6.46 | | | 1]
|89 |AT1000150 | IMIT, SIMIT |[MBAC=6.46,NP0O=5.55,NPAlegereBac=7.30,NPOBAC=6.55 |6.46 | | [ 1]
|90 |AT1000161 | IMIT, SIMIT |[MBAC=6.41,NP0=5.50,NPAlegereBac=6.75,NPOBAC=7.00 |6.41 | | | 1]
|91 |AT1000118 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=6.36,NP0O=5.65,NPAlegereBac=7.45,NPOBAC=6.00 |6.36 | | | 1]
|92 |AT1000300 | SIMIT, SIMAPA |[MBAC=6.33,NP0O=7.85,NPAlegereBac=5.65,NPOBAC=5.50 |6.33 | | [ 1]
|93 JAT1000191 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=6.31,NP0O=7.40,NPAlegereBac=6.50,NPOBAC=5.05 |6.31 | | | 1]
|94 |AT1000165 | IMIT, IMAPA, $IMIT, SIMAPA |MBAC=6.30,NPO=7.05,NPAlegereBac=5.75, NPOBAC=6.10 16.30 | | 1]
|95 |AT1000255 | IMAPA, SIMAPA |[MBAC=6.30,NPO=5.70,NPAlegereBac=7.65,NPOBAC=5.55 |6.30 | | [ 1]
|96 |AT1000015 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=6.30,NP0=5.25,NPAlegereBac=6.75,NPOBAC=6.90 |6.30 | | | 1]
|97 |AT1000286 | IMAPA, IMIT, $IMAPA, SIMIT |MBAC=6.30,NPO=5.00,NPAlegereBac=7.65, NPOBAC=6.25 16.30 | | 1]
| 98 |AT1000272 | SIMIT, SIMAPA |[MBAC=6.26,NPO=7.55,NPAlegereBac=5.85,NPOBAC=5.40 |6.26 | | | 1]
|99 |AT1000201 | IMIT, IMAPA, SIMAPA, SIMIT |[MBAC=6.25,NP0=5.75,NPAlegereBac=7.65,NPOBAC=5.35 |6.25 | | | 1]
|100 |AT1000246 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=6.23,NP0O=6.60,NPAlegereBac=6.70,NPOBAC=5.40 16.23 | | 1]
|101 |AT1000245 | SIMIT, SIMAPA, IMIT, IMAPA |[MBAC=6.23,NP0=5.60,NPAlegereBac=5.85,NPOBAC=7.25 |6.23 | | | 1]
|102 |AT1000243 | SIMIT |I[MBAC=6.21,NPO=5.15,NPAlegereBac=6.50,NPOBAC=7.00 |6.21 | | [ 1]
|103 |AT1000234 | IMIT, $IMIT, IMAPA, SIMAPA |MBAC=6.20,NPO=6.60,NPAlegereBac=6.90,NPOBAC=5.10 16.20 | | 1]
|104 |AT1000187 | IMIT, SIMIT, IMAPA, SIMAPA |[MBAC=6.13,NP0=5.55,NPAlegereBac=7.15,NPOBAC=5.70 |6.13 | | | 1]
|105 |AT1000094 | IMIT, SIMIT |[MBAC=6.10,NPO=5.60,NPAlegereBac=6.00,NPOBAC=6.70 |6.10 | | [ 1]
|106 |AT1000202 | IMIT, SIMIT, IMAPA, $SIMAPA |[MBAC=6.10,NPO=5.10,NPAlegereBac=7.15,NPOBAC=6.05 |6.10 | | | 1]
|107 |AT1000271 | IMIT, IMAPA, SIMIT, SIMAPA |[MBAC=6.01,NP0O=5.65,NPAlegereBac=5.65,NPOBAC=6.75 |6.01 | | | 1]
/108 |AT1000156 | IMAPA, IMIT, $IMAPA, SIMIT |IMBAC=6.01,NP0O=5.00,NPAlegereBac=7.35,NPOBAC=5.70 16.01 | | 1]
|109 |AT1000006 | IMIT, SIMIT |[MBAC=6.01,NP0O=5.00,NPAlegereBac=6.50,NPOBAC=6.55 |6.01 | | | 1]
|110 |AT1000144 | IMIT, $IMIT, IMAPA, $IMAPA |MBAC=6.00,NPO=5.70,NPAlegereBac=5.90, NPOBAC=6.40 16.00 | | 1]
|111 |AT1000276 | SIMIT, SIMAPA |[MBAC=6.00,NPO=5.35,NPAlegereBac=5.00,NPOBAC=7.65 |6.00 | | [ 1]
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